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Dividing Fractions by Fractions

Divide and express your answers in mixed numbers if possible 

1⁄4  ÷ 1⁄3  = 3⁄4  ÷ 5⁄6  =

2⁄4  ÷ 1⁄3  = 2⁄11  ÷ 1⁄8  =

3⁄11  ÷ 1⁄3  = 1⁄5  ÷ 1⁄7  =

2⁄4  ÷ 1⁄9  = 1⁄3  ÷ 2⁄7  = 1⁄4  ÷ 1⁄9  =

1⁄2  ÷ 1⁄6  = 2⁄4  ÷ 6⁄3  = 1⁄2  ÷ 2⁄8  =

1⁄4  ÷ 1⁄10  = 2⁄6  ÷ 1⁄9  = 1⁄3  ÷ 2⁄9  =

2⁄3  ÷ 1⁄9  = 1⁄4  ÷ 8⁄3  = 1⁄3  ÷ 4⁄3  =

3⁄7  ÷ 1⁄6  = 3⁄4  ÷ 3⁄4  = 4⁄6  ÷ 1⁄6  =

3⁄2  ÷ 1⁄4  = 1⁄4  ÷ 1⁄8  = 1⁄2  ÷ 1⁄5  =

2⁄9  ÷ 1⁄4 = 6⁄8  ÷ 7⁄6  = 1⁄4  ÷ 1⁄9  =

3⁄3  ÷ 1⁄9  = 3⁄2  ÷ 1⁄4  = 1⁄8  ÷ 1⁄9  =
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Answers

Divide and express your answers in mixed numbers if possible 

1⁄4  ÷ 1⁄3  = 3⁄4 3⁄4  ÷ 5⁄6  = 9⁄10

2⁄4  ÷ 1⁄3  = 1⁄2 2⁄11  ÷ 1⁄8  = 5⁄111

3⁄11  ÷ 1⁄3  = 9⁄11 1⁄5  ÷ 1⁄7  = 2⁄51

2⁄4  ÷ 1⁄9  = 1⁄24 1⁄3  ÷ 2⁄7  = 1⁄61 1⁄4  ÷ 1⁄9  = 1⁄42

1⁄2  ÷ 1⁄6  = 3 2⁄4  ÷ 6⁄3  = 1⁄4 1⁄2  ÷ 2⁄8  = 2

1⁄4  ÷ 1⁄10  = 1⁄22 2⁄6  ÷ 1⁄9  = 3 1⁄3  ÷ 2⁄9  = 1⁄21

2⁄3  ÷ 1⁄9  = 6 1⁄4  ÷ 8⁄3  = 3⁄32 1⁄3  ÷ 4⁄3  = 1⁄4

3⁄7  ÷ 1⁄6  = 4⁄72 3⁄4  ÷ 3⁄4  = 1 4⁄6  ÷ 1⁄6  = 4

3⁄2  ÷ 1⁄4  = 6 1⁄4  ÷ 1⁄8  = 2 1⁄2  ÷ 1⁄5  = 1⁄22

2⁄9  ÷ 1⁄4 = 1⁄31 6⁄8  ÷ 7⁄6  = 9⁄14 1⁄4  ÷ 1⁄9  = 1⁄42

3⁄3  ÷ 1⁄9  = 3 3⁄2  ÷ 1⁄4  = 6 1⁄8  ÷ 1⁄9  = 1⁄81
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